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Question 1 to 4 carry 1 mark each. Questions 5 to 6 carry 2 marks each. 
For each question, four options are given. One of them is the correct answer. 
Make your choice (1, 2, 3 or 4) and shade your answer accordingly below. 
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1 The figure is made up of 3 identical squares. 

What fraction of the figure is unshaded? 
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SCHOOL : 
LEVEL 
SUBJECT : 
TERM 

 

SECTION A 
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2 3 _ 40 15 16 _ 9 1------------
5 8 40 40 40 40 

Q15a 21 

No. of dots in Fig. 12 = 1 + 4 x 12 = 49 
Q15b No. of dots in Fig. 19 = 1 + 4 x 19 = 77 

77 -49 = 28

109 = 1 + 4 X n 
Q15c 4n = 109 -1 = 108 

n = 108 + 4 = 27

Assume all boys: 40 x 3 = 120 
Difference in pencils received = 152 -120 = 32 

Q5 

016 Difference in no. of pencils between each boy and girl = 5 -3 = 2 
32 + 2 = 16
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SECTION A 

I 06 I 
2 02 ··I 3 03 1 04 3 
4 

SECTION B 

07 10.30 - 0.99 = 9.31

08 5.32 X 7 = 37.24

09 30 + 2.5 + 0.04 = 32.54

60 - 20 = 40 
010 40 + 5 = 8 

8 + 20 = 28

011 ii �}j 
72 + 8 = 9 

012 3u = 9 X 3 = 27 
27 + 25 = 52 
72 - 52 = 20

013 $7.65 - $6.50 = $1.15 
$36.70- $1.15 = $35.55

014 $0.80 + $2.20 + ($3.20 X 5) = $19

015a 1 1 _ 12 3 4 _ 51------------

4 3 12 12 12 12

5u = 30 
015b 1u = 6 

12u = 6 X 12 = 72

5u = 2.5 r + o.85 r = 3.35 r
016a 1 LI = 0.67 f 

3.35 - 0.67 = 2.68 .e 
016b 2.68 + 9 = 0.297 f::: 0.30 .e 
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